QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

frafeied vy # far ow fagreul & @ uy R
(?) & TUE W A Gl EA B &

5 3 7
l4]22]6| [2]20]7] [6]|2]9]
7 8 8
Options:
1) 30
2)32
3)31
4) 29

Correct Answer: 30
Candidate Answer: 30

QID:102-
How many triangles are there in the given figure?

& o sl 3 o Puger ¥

Options:
1)3

2)4
3)5

4)6
Correct Answer: 5
Candidate Answer: 5



QID: 103 -
A word is represented by only one set of numbers as given in any one of
the alternalives. The sets of numbers given in the alternalives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 02, 30, etc., and ‘2’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “CAKE”.

T G dad T FEA-HHAE G AT IR &, o R feveul # &
o & fgm raw ¥ Rwedt & e ow dem-aeg 3R & gr ant
gRT oRiT e &, ot T BT e @y Jneqer 3 B Inegs & TS IR
Ufh & HEar 0 B 4 ¥ 3N s B 5 F 91 3 IR I TH ‘N
P Ugel 3HH URG AR A # TN H@m gRT giT S dhdl gl
3ETEOT @ few D’ a1 02, 30, NG GRT GURIT ST Fehell & a1 2 i 00,
77, 3R ERT AWM ST WHhAT §1 W alE ¥ e uA A /U ue
“CAKE” & fOIT W & Tgg==r &

Matrix-1 Matrix-ll

-l Aregg-ll
0|1(2]3]|4 5|6|7(8]9
0| Z|C|D|G|X S|FIR|O|T(W
1| G|A|N|H|V 6| KIM|[J|C|S
2I|U[O|Y |K[T 7T|L|IP|Z|]Y]|D
3|D|G|W|L|R 8|FIE|J|AIN
4|1A|E|U|C|K 9 luiw|QlVv (X

Options:
1) 01, 11, 23, 86

2) 11, 40, 45, 23
3) 43, 88, 12, 41

4) 68, 55, 67, 34
Correct Answer: 01, 11, 23, 86
Candidate Answer: 01, 11, 23, 86

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

a1 7 TR gl A @ 3H I AES @ giew
Sra & oy gl Bfea B

T

i



Options:
1)

2)

N

4)

Correct Answer:

N
N

Candidate Answer: [ NOT ANSWERED ]

QID : 105 -
Which answer figure will complete the pattern in the
guestion figure?

Hied W SO AT T A & UiasT &t g
THIAN?

?
7

O




Options:

Correct Answer:

/0

Candidate Answer:

QID : 106 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg we ZUUT @ AB T W T W, a1 & e
IO ERAl # ¥ @i o ey us ey A

el UiaRea gion?
\I/E
w7




Options:
1)

/I‘\

x |7
2)
/I\
Val AN
3)
\I/
AN/
4)

7]

"
LN

Correct Answer:

N

e
e

Candidate An

swer:

N

'
/

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr & uy agpfodl # e sgEn s @
ST el JAT Wi &b aIg g% hT o’ Hpia

S feard game

4| | o

i he 55 ents & s T P 5 bt o M i i ';.r‘m



Options:
1)

2)

3)

0450
0l o

4)

00
0ol o

Correct Answer:

0L 0
O O
oo

Candidate Answer:

0L 0
O O
oo

QID : 108 - By interchanging which two signs the equation will be correct?

6+9+11-3x12=-29
e 2T gt T 39T & RER Teoled I THIHIOT TET &1 SIean?

6+9+11-3x12=~-29
Options:

1) +and -

+aur -

2) x and +

X AT +

3) +and +

+ TAT +

4) + and x

+ T X

Correct Answer: =+ and —
+qur -

Candidate Answer: [ NOT ANSWERED ]

QID:109-If3P4P2=12and 6 P3P 2 = 18, then

4P11P2=7?
AE3P4P2=12T6P3P2=18¢,dr

4P11P2=7?
Options:

1)44

2) 24

3) 46

4) 22

Correct Answer: 44
Candidate Answer: 44

i he 55 ents & s T P 5 bt o M i i ’mm



QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Angle

2. Able

3. Ant

4. Amicable
5. Amend

ATl erel 1 g # 37 arel i & 3TAR |

1. Angle

2. Able

3. Ant

4. Amicable
5. Amend

Options:
1) 25413

2) 24513
3) 25431

4) 24531
Correct Answer: 25413
Candidate Answer: 25413

QID : 111 - In the following question, select the missing number from the given series.
30, 29, 27, 24,?
fAEAtafld yea # few v fashedt & § e 3 A R

30, 29, 27, 24,?
Options:

121

2)22

3)23

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ABC, EFG, 1JK, ?
Teh 37eTehe ST T &, T8 & Uh e ool ¢ faU I1C fashedl # @ a Wel fashed iU, ST 3Tgshal I 0 |

ABC, EFG, 1JK, ?

Options:
1) LMN

2) MNO
3) JKL

4) MOP
Correct Answer: MNO
Candidate Answer: MNO

QID : 113 - In the following question, select the odd word from the given alternatives.

AT e # 76U ¢ fashedl # @ fawe s &1 gi=rw)
Options:

1) Steel

Eaio)

2) Aluminium

TegHiTT

3) Bronze

el

4) Oxygen

Kl

Correct Answer: Oxygen
Elcrico

Candidate Answer: Oxygen

KliEcice)




QID : 114 - In the following question, select the odd number pair from the given alternatives.

TrAfafad 9o # fow 91e fashedl & fave dear 3o &1 giww)
Options:

1)13-172

2)9-84

3)11-125

4) 16 — 259
Correct Answer: 11 - 125
Candidate Answer: 16 — 259

QID : 115 - In the following question, select the odd letters from the given alternatives.

TRrAfafad gea #F fow 91e fashedt F & favs 3Rt giav

Options:
1) ONM

2) RQP
3) CBA

4) VTS
Correct Answer: VTS
Candidate Answer: VTS

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Mother, Grandmother, Females
a3 AT S A TG 10 F9if & o & Fa H1@gr Hwaor wRar g

Options:
1)

00
®

3)

®l1%

Correct Answer:

Candidate Answer:

O
O

O

e s T T AT b e T et o Vo Ve



QID : 117 - In the following question, select the related word from the given alternatives.
Song : Singer : : Painting : ?
TerATafad geaT # fou e fashedt # @ Heferd e 1 v

ATAT = MAF : : RFwar: ?
Options:

1) Painter

ICECar

2) Cobbler

Ay

3) Mason

e

4) Plumber

GRS

Correct Answer: Painter

IEEETCS

Candidate Answer: Painter

ICEEIEY

QID : 118 - In the following question, select the related number from the given alternatives.
10:100::14:?

fawafafee yea 7 U a1v fashedl & & Geferd Hear & giav|

10:100::14:?

Options:

1) 197

2) 225

3) 196

4) 169
Correct Answer: 196
Candidate Answer: 196

QID : 119 - In the following question, select the related letters from the given alternatives.
MO:PR::SU:?

e gea # U 1w fashedt 3 & Feifera 3ieRi i 9w

MO:PR::SU:?

Options:

1) vy

2) VX

3) W

4) WY
Correct Answer: VX
Candidate Answer: VX

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

SALUBRIOUS

TFrATaRad fasedt 3 & a5 WUse IiAT it 14T 7T 2ree; o 37&RT 1 TEHIET Feh 761 oA ST Hebell|
SALUBRIOUS

Options:

1) LIAR

2) BLUR

3) SURE

4) RAIL
Correct Answer: SURE
Candidate Answer: LIAR




QID: 121 - X and Y starts from same point and walks 20 km in opposite directions to each other. X turns left and walks 15 km. Y turns left and walks 15 km. How
far (in km) are they from each other?

X @Y T g1 fdig & Treiar JReT e § o gl el iR # 20 R Ter €1 X 9t 3R g 15 R aar 81 Y et A gz 15 el e 81 F v gy
U frcai gr (e, ) w2

Options:

1) 50

2) 50v2

3) 40v2

4) 30V5
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - If 4 years ago the ratio of the ages of P and Q was 5 : 6 and the sum of their ages at present is 52, then what is the ratio of their present ages?

afe 4 o qF P qUT Q Y 3 FT AT 5 1 6 AT AUT AT Y FcTATA 3 3G FT AT 52 §, AT IhT TcTATA I FT I T 82
Options:

1)5:6

2)6:7

3)5:7

4)3:4
Correct Answer: 6 : 7
Candidate Answer: [ NOT ANSWERED ]

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some blue are black.
II. Some black are red.

Conclusions:
1. No blue is black.
I1. Some black are blue.

oA fow 1w et 7 Fo FU 3R 3% A1 37 FYA W IMUNA F6 foTsohe] 4T 1T &, FTeifh 379 WA AT T § Fowielm g Fehell &1 Foif fovsamd 0 31k A
fAeiRa &t o e arv e & Ty, faw st sea & MR R gRrawrd &

fYel:
L. % 7l el g
11 F& F a1 £

fashy:

1. F¥g el I 78T o

11 %@ el aliel €1

Options:

1) Only conclusion (I) follows.

el sy (1) wEr 81

2) Only conclusion (II) follows.

et forsad (I1) T@ 1

3) Both conclusion follow.

2t g1 o & £

4) Neither conclusion (I) nor conclusion (II) follows.
1 & fAshy (1) = & ey (1) T &1

Correct Answer: Only conclusion (II) follows.
hael sy (11) TEY &

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o oY TSRy (1) 7 & sy (1) a8 &1

QID : 124 - In a certain code language, "GAME" is written as "HCPI". How is "PLAY" written in that code language?

T ffRIse Fig 99T &, "GAME" H1 "HCPI" fo@r Siem &1 57 #13 8T & "PLAY" &I fohg wehR forar sireem?

Options:
1) QNDC

2) QNCC
3) OMDD

4) ONDC
Frvvnct Amcarass AN | I e e el mﬁ:.&ﬁ.mx&iﬁﬁ'mm-ﬁ ]




Candidate Answer: QNDC

QID : 125 - In a certain code language, "NIP" is written as "38" and "NIB" is written as "24". How is "HEX" written in that code language?

T fafrse iz seT &, "NIP" St "38" T "NIB" I "24" forar Siar §1 56 $is #1WT & "HEX" &t g U forar steen?
Options:

1) 36

2)35

3)37

4) 38
Correct Answer: 36
Candidate Answer: 37

QID : 126 - What is the value 35 -15 + 3 x 7 + 4?

35—15 + 3 X 7 + 4 T AT T &7

Options:

1) 14

2)6

3)9

4)4

Correct Answer: 4
Candidate Answer: 4

QID : 127 - Which of the following number is divisible by 15?

feafafa 7 & Hia o gear 15 & ia: @i 82
Options:
1) 73246
2) 23450
3) 11115

4) 24095
Correct Answer: 11115
Candidate Answer: 11115

QID : 128 - What is the value [(2.4)3 + (0.8)3] + [(2.4)? + (0.8)2 — (2.4) x (0.8)]?

[(2.4)% + 0.8)3] =+ [(2.4)2 + (0.8)% — (2.4) x (0.8)] T HieT FT &?

Options:
1)4.2
2)3.2
3)1.6
4)2.2

Correct Answer: 3.2
Candidate Answer: [ NOT ANSWERED ]

QID : 129 - How many positive factors are there of 360?

360 & foheal EIetIcHe UTITES §?

Options:
1) 24

2)28
3)18

4) 30
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]




QID : 130 -

Which of the following statementis true?

4 -
[ (42) =47
. 4° > 4°
FFRET 7 O T @ FIT T 872
4 -
[ (42) =47
. 4% > 4°
Options:
1) Only I
Faer 1
2)Only II
Faer 11
3) Both Iand II
1ar I =t
4) Neither I nor II
AATIAEI
Correct Answer: Both I and II
1 g I gar

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - How many multiple of 3 or 4 are there from 1 to 100?

1 9 100 e 1 GEAT & 3 7T 4 & fahcel aqonies 82
Options:

1) 55

2) 50

3)58

4)33
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 132 - A alone can do a work in 15 days. A is 20% less efficient than B. In how many days can B alone do the work?

A T Fd T 31eher 15 el 7 G0 9= Fehell &1 A, B & 20% F HIEEH 1 B 3ol 38 H8 & frcier el 7 1 9 Fehelt 82
Options:

1)12

2)18

3)20

4)24

Correct Answer: 12

Candidate Answer: 18

QID : 133 - Three taps A, B and C can fill a tank in 20, 30 and 36 hours respectively. If all the taps are opened together, then in how many hours will the tank be
filled?

ieT 7TeT A, B T C Uk &hY T sheAel: 20, 30 T 36 € & 3R Tha & I el il Y veh Arey @ier far a1md, o <l fohaey g & o1k simeefl?
Options:

1)6

2)9

3)12

4) 15
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

QID : 134 - The length of two parallel sides of a trapezium are 60 cm and 40 cm. If the area of the trapezium is 200 cm?, then what is the value of its height (in
cm)?

Ueh {HES T &1 FHI SSTTHT T =g 60 W, 7T 40 WA, &1 Ffer Favela 7 &3her 200 {32 &, A 3T FArS & A (@A #) Far e

Options:
1)6
2)8
3)3
4)4

e s T T AT b e T et o Vo Ve |



Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 135 - If the difference between discount of 50% and two successive discounts of 20% on a certain bill is Rs 42, then what is the amount (in Rs) of the bill?

I var e 7 50% AT 20% ¥ &Y FHATTT Tk & T 42 T T AT A0 &, ar et v Wi (7 ) frcahr 82

Options:
1) 300
2) 750
3) 600
4) 800

Correct Answer: 300
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A merchant purchases a watch for Rs 560 and fixes its marked price in such a way that after allowing a discount of 20%, he earns a profit of 40%.
What is the marked price (in Rs) of the watch?

T STIRY 560 ¥ F U T3 WEAT § TUT S JHihd Ao 50 e TUTRe T & 7 20% HT FT &1 3 T2 o 38§ 40% T A W gie &1 18y 7 31T 7o (3
A FWME?

Options:

1) 600

2) 980

3) 660

4) 750

Correct Answer: 980

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Incomes of X and Y are in the ratio 3 : 2. The ratio of their expenditures is 7 : 3. If both save Rs 800 at the end of the month, then what is the income
(in Rs) of X?

X AT Y T 379 3 : 2 % 3q01d 7 &1 37 539 7 & 3 % 3] & ¢ AfE #1g & 31 # 2kt 800 T hv arwiey Xl &, A X 1 319 (3 #) F4r §?

Options:

1) 1280

2) 3000

3) 2300

4) 1920
Correct Answer: 1920
Candidate Answer: [ NOT ANSWERED ]

QID:138-IfM:N=3:5andM:0 = 3: 7, then what is (M + N) : (N + O)?

IRAM:N=3:5q0M:0=3:7%& a(M+N): (N+O) T ?

Options:

1)5:4

2)2:3

3)6:5

4)4:5

Correct Answer: 2 : 3
Candidate Answer: 4 : 5

QID : 139 - The average of N numbers is 10. If a number 6 is removed, then average becomes 12. What is the value of N?

N TEITHT T 3 10 &1 IfE Teh TEAT 6 T gerdT o, ar A ad 12 &1 a1 &1 N T Al 37 §7

Options:
1)5

2) 4
3)6

4)3
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 140 - A man sold 250 chairs and had a gain equal to selling price of 50 chairs. What is his profit percentage?

T eferar 250 FHRAAT T S 50 FEET & Rer Hed & TS o FAT &1 AT AT TTCRIT FT §2

Options:
1) 20

2)25

3)10

a1 e s T T AT b e T et o Vo Ve |



Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

QID : 141 - On selling an article for Rs 195, a shopkeeper losses 35%. At what price (in Rs) he should sell the article in order to earn a profit of 30%?

Teh & T 195 & & Gl TN Teh GohlaiaR T 35% i g1fel gcll &1 30% oeT ATt & Tl 38 37 a6 Y ohetel (3 H) H areemr anfew?

Options:
1) 95

2) 100
3) 390

4) 280
Correct Answer: 390
Candidate Answer: [ NOT ANSWERED ]

QID : 142 - 1600 is first decreased by 25% and then it is increased by 25%. What is the final value?

1600 Y Tger 25% & HET IT a1 AT 3/ 25% & T[T 3147| 3ifa# A a1 &2

Options:
1) 1600
2) 1450
3) 1500
4) 1550

Correct Answer: 1500
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Total cost of 40 chairs is Rs 1600. If cost of each chair increases by 20% and number of chairs decrease by 10%, then what will be the total cost (in
Rs) of chairs?

40 TRt 7 Tt Hea 1600 T §1 A TAT il F1 30T 20% W wgT oA ST a2 FTa! 7 FEAT 10% § FH 81 ST, AT FHaa) 9 Fel 74 (I 7) F47 gam?

Options:
1) 2400

2) 1728
3) 1484

4) 1865
Correct Answer: 1728
Candidate Answer: 1728

QID : 144 - A car travels at a speed of 50 m/sec. for 7 hours. What is the distance (in km) travelled by the car?

we aMEr 50 3. /s H A F 7 G0 T eI T IS EaRT a7 H S g (RR.A. ;) F=m §?

Options:
1) 1250

2) 1260
3) 1300

4) 1200
Correct Answer: 1260
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - A train running with a speed of 6 km/hr, crosses a telephone pole. If the length of train is 720 meters, then what is the time taken (in seconds) by the
train to cross the pole?

T 6 oY /e AT T1fT & T aTel TR, U Sl o WF P IR A ¢ | A YSRET i wFars 720 HeX §, av e eaRT @F S 9K e H o I §hE
(Ahus ) e &2

Options:
1) 430

2) 450
3) 432

4) 445
Correct Answer: 432
Candidate Answer: [ NOT ANSWERED ]

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 15000 for 2 years at the rate of 10% per annum compounded annually?

15000 ¥ 3 FAHT TR 10% Fr a1 X T AT TiereT o 2 Gl &7 Tehq i sameT (3 H) Fa1 872

e s T T AT b e T et o Vo Ve |



Options:
1) 3050

2) 3150
3) 3000

4) 7500
Correct Answer: 3150
Candidate Answer: [ NOT ANSWERED ]

QID: 147 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

A BT 77 Zus B # I¥ 2011 § 2016 T 2
Fatear X dur Y Fr Fhr (ot #) wr getar T
|

O Company X /9T X O Company Y /=T Y

120 - 100 112
FHE 100 gg 96 1%
S’ 80 80 80 80
EE il 60| | T
£ 80
o — 60 - 56
K
© g 40 A
w
20 1
0 L,
— o [or] <t 0 o
S S S S S S
[l (o] (o] (o] (o] (o]

Year/a§

In how many years was the sale of company X more than that of company Y?

Topcrey auf 3 Fety X 1 foshr Faer Y & foshr & aifees o

Options:
1)2

2)5
3)1

4)3
Correct Answer: 2
Candidate Answer: 2

i he 55 ents & s T P 5 bt o M i i ’mm



QID: 148 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#r BT 9w guz By A ¥ 2011 § 2016 @ 2
FafeaT X dor Y Fr & (omaEt #) wr getar T3
el

O Company X /9T X 0O Company Y /&9 Y

120 - 112
100 -
74 100 gg 96 100
S 80 80 80 80
EE 80 50
£ 80
> = 60 - 56
(4]
SE 40
w
20 |
0 .
— N o <t s [{=]
= & &5 = & =
™ (] (o] (o] (o] (9]

Year/a§

What was the percentage change in the sale of company X from year 2011 to 2015?

a¥ 2011 & 2015 T, et X & foshr & e aRader = ar?

Options:
1) 30

2) 80
3)50

4) 60
Correct Answer: 30
Candidate Answer: 60

i he 55 ents & s T P 5 bt o M i i ';.r‘m



QID: 149 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#r BT 9w guz By A ¥ 2011 § 2016 @ 2
FafeaT X dor Y Fr & (omaEt #) wr getar T3
el

O Company X /9T X 0O Company Y /&9 Y

120 - 112
100 -
74 100 gg 96 100
S 80 80 80 80
EE 80 50
£ 80
> = 60 - 56
(4]
SE 40
w
20 |
0 .
— N o <t s [{=]
= & &5 = & =
™ (] (o] (o] (o] (9]

Year/a§

What was the average sale (in lacs) of company Y from 2012 to 2016?

ay¥ 2012 ¥ 2016 o, H9elr Y i 3itaa foshr (amat #) e

Options:
1) 104

2)85.6
3) 140

4)170.4
Correct Answer: 85.6
Candidate Answer: 85.6

i he 55 ents & s T P 5 bt o M i i ';.r‘m



QID: 150 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#r BT 9w guz By A ¥ 2011 § 2016 @ 2
FafeaT X dor Y Fr & (omaEt #) wr getar T3
el

O Company X /9T X 0O Company Y /&9 Y
120 - 112
100 ]
74 100 gg 96 100
S 80 80 80 80
= E 80 - 50
£ 60
o — 60 - 56
(4}
© g 40 -
n
20 -
0 .
— o o <t el o
S ) ) ) S S
™ (] (o] (o] (o] (9]
Year /9§

The sale of company Y in 2015 is what percent of the sale of company X in 2011?

ay 2015 & ol Y ¥ forshr a§ 2011 & hueiy X Fr f9shr &1 e gfaera 82

Options:
1) 80

2) 100
3) 250

4) 300
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

How did they become (1)/ the most successful investors (2)/ America have ever seen. (3)/ No error (4)

Options:
11

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He found comfort in fantasy and (1)/ science-fiction books which inspiring (2)/ him to leave a legacy in the world. (3)/ No error (4)

Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

D he. s st S T Foiea 3 bt o) ,1‘5:9”1;"}:';.‘;?]’7_7'&:?



QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Nobody will help you but .
Options:
1) my

2)1
3) mine

4) their
Correct Answer: I
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

One must not praise self.
Options:

1) his

2) her

3) ours

4) one
Correct Answer: one
Candidate Answer: [ NOT ANSWERED ]

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Forbid
Options:
1) Include

2) Standout
3) Preclude

4) Welcome
Correct Answer: Preclude
Candidate Answer: Preclude

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Haggard
Options:
1) Hard working

2) Plump
3) Healthy

4) Exhausted
Correct Answer: Exhausted
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Insipid
Options:
1) Innocuous

2) Original
3) Exciting

4) Jovial
Correct Answer: Innocuous
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lustre

Options:

1) Gloss

2) Shine

3) Matte

4) Dazzle

Correct Answer: Matte e s T T AT b e T et o Vo Ve |




Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Victor

Options:
1) Champ

2) Hero
3) King

4) Loser
Correct Answer: Loser
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Darken

Options:

1) Deepen

2) Dim

3) Eclipse

4) Illuminated
Correct Answer: Illuminated
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Be under somebody’s thumb

Options:

1) To be about from duty without permission

2) Be controlled by someone completely

3) A deep thinker

4) To destroy in the very beginning
Correct Answer: Be controlled by someone completely
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get wind of something

Options:

1) Expect too much of life

2) Hear about something

3) Refusing to shoot

4) A false intention
Correct Answer: Hear about something
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - Improve the bracketed part of the sentence.

The consequences of her removal (inside the) meeting of the general counsel of the party will be immediate.
Options:

1) on the

2) around the

3) at the

4) No improvement
Correct Answer: at the
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - Improve the bracketed part of the sentence.

While there are (much) in the party, including ministers, who still sympathize with her.
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Options:
1) many

2) most
3) less

4) No improvement
Correct Answer: many
Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A fear of closed places.
Options:
1) Homophobia

2) Claustrophobia
3) Aerophobia

4) Monophobia
Correct Answer: Claustrophobia
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A list of things to be discussed at a meeting.
Options:
1) Meetings

2) Notice
3) Notion

4) Agenda
Correct Answer: Agenda
Candidate Answer: [ NOT ANSWERED ]

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Guidanse

2) Guidence
3) Guidance

4) Giudance
Correct Answer: Guidance
Candidate Answer: [ NOT ANSWERED ]

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Encycleopodia

2) Encyclopedea

3) Encyclopedia

4) Encyclopidea

Correct Answer: Encyclopedia

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - Rearrange the parts of the sentence in correct order.

There was a

P: the river, from one
Q: thick rope tied across
R: bank to the another
Options:

1) PQR

2) RQP

3) RPQ

4) QPR

Correct Answer: QPR
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Rearrange the parts of the sentence in correct order.

I knew that

P: challenge with courage
Q: result of facing a

R: this confidence was a
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Options:

1) PQR

2) RPQ

3) QPR

4) RQP

Correct Answer: RQP
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

the fact of in diversity

Options:
1) unity

2) adversity
3) relativity

4) creativity
Correct Answer: unity
Candidate Answer: unity

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

for many years without problem
Options:
1) most

2) any
3) more

4) none
Correct Answer: any
Candidate Answer: any

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

ancient culture and ;
Options:
1) festival

2) rites
3) tradition

4) themes
Correct Answer: tradition
Candidate Answer: festival

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

all have characteristic
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Options:
1) dislike

2) unlike
3) nominal

4) similar
Correct Answer: similar
Candidate Answer: nominal

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

able to together.
Options:
1) die

2) drink
3) sleep

4) live
Correct Answer: live
Candidate Answer: live

QID : 176 - In which sector the government owns most of the assets and provides all the services?

TR 817 7 TRHR T 3ifhier Fufeaar & 3R Tel dard vereT wdm &7
Options:

1) Public

STelcdl

2) Private

forsir

3) Both public & private
TSI g [@et gt
4) None of these

oo @ FIS AET

Correct Answer: Public
Stelcl

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - What are the loans from informal lenders including moneylenders, traders, employers, relatives and friends etc is called?

ST IUREA & %7 foad da-2aeR, sararial, aewar, NeAgRT gur aredt 31fe & o7 ffe &, 41 Fgea &7
Options:

1) Formal sector loans

Sioenfes &t =T

2) Informal sector loans

JrAtgaTies 819 FHoT

3) General loans

HIATT HOT

4) Commercial loans

aifoSas HoT

Correct Answer: Informal sector loans

JrAtgaTier 819 FHoT
Candidate Answer: [ NOT ANSWERED ]

QID: 178 - is a sudden overthrow of a government illegally.

IR T F FRUT AIHR FT 315 Hehel 1
Options:

1) Strike

REGIGE

2) Veto

drer

3) Coup

dE&d™eic

4) Trade union

IR ¥
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Correct Answer: Coup
RECIIEEA
Candidate Answer: [ NOT ANSWERED ]

QID : 179 - Who among the following is the most important political institution in our country?

PrAfaf@d # ¥ Fia AR 3 7 T8 Ageaqel Terehfas Feam §?
Options:
1) President

egafa

2) Governer

TG

3) Chief Justice of India
R & HET wgrareher

4) Governor of state

TS & TSI

Correct Answer: Governer

LCG
Candidate Answer: [ NOT ANSWERED ]

QID : 180 - Who was the son of Chandragupta Maurya?

TeEIIed AN T FHi AqT?

Options:
1) Bindusara

2) Ashoka

37eleR

3) Bimbisara

[ECE3Iny

4) Chandragupta-I

Togded TAH

Correct Answer: Bindusara
[RES

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Whom did Babur defeated at the Battle of Khanwa of 1527?

1527 & et & I & ae o oy g AT?
Options:

1) Ibrahim Lodi

FSTRH ST

2) Rana Sanga

UM |iET

3) Sher Khan

R @I

4) Mirza Hakim

TR ghrA

Correct Answer: Rana Sanga

T HiEw

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - Which is the third largest continent of the world?

g 1 T TEW 937 FQIEdT it AT 62
Options:

1) Europe

S

2) North America

ST 3TARAT

3) South America

aiah smfir

4) Australia

sregforar

Correct Answer: North America

Sl 3R
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Which is the only ocean named after a country?

TREY 2T & AT TR @M 9T THATT AGIRER ShisT 4T 87?7




Options:

1) Atlantic Ocean

37l AFRIPR

2) Arctic Ocean

ITHIEH ATAPR

3) Pacific Ocean

2N HETEER

4) Indian Ocean

e, ATNRR

Correct Answer: Indian Ocean
foee AGTERR

Candidate Answer: Indian Ocean
fBeg AR

QID : 184 - Number of RBC in an adult man per mm 3 of blood is

Teh gITH giad & 9fd [F.A. 3 IFd 7 3IRELEY. T gEar gl

Options:
1) 500

2) 5000

3) 500000
4) 5000000

Correct Answer: 5000000
Candidate Answer: 500000

QID : 185 - If there were no sun rays reaching the earth, human should suffer from the deficiency of

A i S BT el R AL aga §, o FqeT & waf & Nf3a g s gl
Options:

1) Mineral

gfersr

2) Fat

qar

3) Vitamin D

e 3

4) Vitamin E

ferf@ =T E

Correct Answer: Vitamin D

ferfae &

Candidate Answer: Vitamin D

ferfaeT &t

QID : 186 - If all the tissues except xylem of main stem of a plant are removed in a ring

I Tk e & TET Tl K SAFAA Hl BIsH Gl Fcih T IS # ger Rw A, ar |
Options:

1) The root dies first

T8 Tgel FR STl &

2) The leaves dies first

gfeear gger 7T AT 8

3) The root and leaves will die at the same time
S5 aar gfcadl U & TFT & FR STei

4) Neither the leaves nor the roots will die

& oY gicaar o & o18 AN

Correct Answer: The root dies first

IS 9gel FY ST &

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - An echo will be heard if the minimum distance between the source of sound and the obstacle is

TS [T oI GATS S STl Tt & Gl AT 3R0eT & T wg7Ac# g g g1
Options:

1)1m

1.

2)10m

10 1.

3)15m

15 #.

4)17 m

17 #.

Correct Answer: 17 m
17 #.




Candidate Answer: [ NOT ANSWERED ]

QID : 188 - Which of the following class of forces is different from others?

FATAET F & o ST el TT T3 3T Y 37cTaT 87

Options:

1) Pulling of a wooden block

Ueh oTehd) T selleh WigslT

2) Stretching of a coiled spring

Te Ghe, qEcl T gl

3) Pushing a wall

ek SR T LT AT

4) Electrical force

faegd o

Correct Answer: Electrical force
[EERGEC

Candidate Answer: [ NOT ANSWERED ]
QID : 189 - Cut, Copy and Paste option are found in menu.
e, F qo e e A # e £
Options:

1) Help

o

2) View

¢

3) Insert

gue

4) Edit

L

Correct Answer: Edit

T

Candidate Answer: View

<q

~

QID : 190 - When marble chips are treated with HCL, which of the following gas is liberated?

S GIRER e vedivd & Ay uiaeR f&6ar Sirar g, Jf eafaf@a & 9 s ar 39 [weem?
Options:

1) CO,

2)0y

3)Co

4) CO5

Correct Answer: CO,

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - The common name of sodium bicarbonate is

TZTH SIS B TAT ATH gl
Options:

1) quick lime

e g

2) baking powder

Sfeher a3

3) baking soda

afher Hist

4) slaked lime

FHIEEH Al

Correct Answer: baking soda

ST Far

Candidate Answer: [ NOT ANSWERED ]

QID : 192 - The symbiotic relation between algae and is lichen.

Sarer g F T TEoIAl T SHT &l




Options:

1) Bacteria

sty

2) Virus

féramoy

3) Fungi

Sdeh

4) Protozoa

T3

Correct Answer: Fungi
hdsh

Candidate Answer: Virus

wror

Rl
QID : 193 - What is the main mantra of Pradhan Mantri Ujjwala Scheme?

TETAHAT Ssodell Fislel 1 HET HT F4T §?

Options:

1) Swacch Indhan, Behtar Jeevan — Mahilaon ko mila samman
TITE ST, SEa SiiaeT — A3t & fFer g

2) Maa, Mati, Manush

i, AE, AN

3) Sabka Sath Sabka Vikas

HEHT Y T [dhrE

4) Janani Suraksha

Seait GREW

Correct Answer: Swacch Indhan, Behtar Jeevan — Mahilaon ko mila samman
TITS ST, Sga StiaeT — Afem3it s fAer e

Candidate Answer: Sabka Sath Sabka Vikas

HEHT AT T [IhrE

QID : 194 - Karl Landsteiner is famous for the discovery of

FTe TR #r @rer & o 9l &1
Options:

1) Blood Groups

T

2) Barometer

S i

3) Rubber

I

4) Polio Vaccine

giferar &1 Erhr

Correct Answer: Blood Groups

T qIE

Candidate Answer: [ NOT ANSWERED ]

QID : 195 - "Upper-cut" is associated mainly with which sports?

"} Fe' AT T & 5 I § Fafed §?
Options:

1) Badminton

Ssfiea

2) Hockey

GER

3) Boxing

LeaTicl

4) Chess

AT

Correct Answer: Boxing

HeFhaTell

2

Candidate Answer: [ NOT ANSWERED ]

QID : 196 - Which among the following is a feature of the Dravidian style of temple architecture?

eI 3 W wier 61 7S A & FRT areqRieT B R #2




Options:
1) Minaret
s icicy

2) Shikhara
RER

3) Gopuram
MRHA

23

4) All options are correct

|t faheT TET &

Correct Answer: All options are correct
ol fareT T &

Candidate Answer: [ NOT ANSWERED ]

QID : 197 - Who received the International Maritime Organization Award for exceptional bravery at sea?

HHE H LR Tergll & ToIT HeRTSET AT Heoet &1 EhR fohdfet ureet fepam?
Options:

1) Akshay Mukul

3T e

2) Radhika Menon

TTeeT AeAeT

3) Malini Subramaniam

aTfe=i gaaAvas

4) Peggy Whitson

Yoy FremaT

Correct Answer: Radhika Menon
AT Aetel

Candidate Answer: Peggy Whitson
Uafr egrewt

QID : 198 - Who is the author of book named “An Area of darkness"?

Options:

1) Khushwant Singh
e e

2) V. S. Naipaul

4. T, A grer

3) Mulk Raj Anand
Hewh T 3MTeg

4) Salim Ali

Helle 37elr

Correct Answer: V. S. Naipaul
4. T, Argrer

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Which is the first non-member of the non-proliferation treaty (NPT) to have signed civilian nuclear deal with Japan?

ST & A1 3RS TRAT] R O GEATER FHlel arell IR-FAR T (THA.G1E. ) 7 T20e IR Terd et ar 2
Options:

1) India

T

2) Nepal

AqTer

3) Pakistan

qifehEdls

4) Indonesia

EECIND)

Correct Answer: India
AT

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Dispute over sharing of Teesta river water is in between India and

e 7E F I & TETROT R A Raawr S gl




Options:

1) Nepal

qTer

2) China

Gicy

3) Bangladesh

FiTereer

4) Pakistan

qrfehEdte

Correct Answer: Bangladesh
FiTeeer

Candidate Answer: [ NOT ANSWERED ]



